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SN HH-S(BN) - MBAY - B il HlnE2
=)y 4,105,302 3,824,142 281,160
SAH 2 THA2EE] 4,014,822 3,737,022 277,800
3 A 2el 288,022 525,222 A 237,200
AsE2el 88,500 88,500 0
201 L2l 55,500 55,500 0
01 At 22l 54,000 54,000 0
oY==t 24,000,000 24,000
OZLAN - EENT R 10,000, 000& 10,000
o3& e =2 5,000,000& 5,000
OMENME & 92 & UE=
10,000, 000& 10,000
o=l 5,000,000& 5,000
02 =224l 1,500 1,500 0
0232= ¥ MM = 1,500,000 1,500
202 odl 18,000 18,000 0
01 = LH Yl 18,000 18,000 0
OZA=F 0l 18,000, 000& 18,000
203 YR T Y| 3,000 3,000 0
03 Al =X A2 =& 3,000 3,000 0
OXE & HS 5 FRFA 2,000,000& 2,000
O&EAMZe L SRILt2e H2FA
1,000, 000& 1,000
307 glz2+ol & 12,000 12,000 0
06 23 12,000 12,000 0
OZHZBHZSERH MEBEE B2
12,000, 000& 12,000
Herztel 199,522 436,722 A 237,200
201 LBH2E| 187,290 194,490 AT,200
01 At 22l 41,000 43,200 A 2,200
O el 23,000,000& 23,000
ogaEEn 2ZH S 12,000, 000& 12,000
O =&l 6,000,000& 6,000
02 =224l 146,290 151,290 25,000
O0z22= & HMA 94,500
oc2gXY BEZ (M) 90,000,000& 90,000
oltsXA ¥ SAMEEES 2,500,000 2,500
oA =5 1,000, 000& 1,000
ocRER=E ¥ JIEHMAIZ= 1,000,000 1,000
O Xt& & Byl 20,000
cHEse X=Xl 10,000, 000& 10,000
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=REI BRI (PYR-T%:]

e 2el (Sl & &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
cAESEIFAL 5,000,000& 5,000
o Zgst= X7 Al 5,000,000& 5,000
OAEZHI S X 31,790
oS Z2elRFIDI| S/W= X = ==t
3,500,000 » 14! 3,500
oSS Z2lRFIDII EH 204
1,500& x5, 0004 7,500
o E2F22IRFIDII H/W(2IT I, L&D ) [ X2
== Hl 6,390,000& 6,390
o SAMMHE , 2SI, H 22| S/We X2 ==t
1,200,000& = 12& 14,400
202 o4dl 3,232 3,232 0
05 SR W 3,232 3,232 0
OXEE NESI/SHIE =0l
404,000& »8H 3,232
207 A O] 6,000 6,000 0
01 289 6,000 6,000 0
O3M & 2ZT JJMAL I35 89
6,000, 000& 6,000
301 LEEXZ 3,000 3,000 0
09 HALAHIX A S 3,000 3,000 0
O2FA MEUS IHE =HOIX AUIXS
3,000,000& 3,000
SH A 2tel 149,000 82,000 67,000
SR MHe 22 127,000 77,000 50,000
201 £B-2d | 47,000 47,000 0
01 At 22/l 42,000 42,000 0
O 2 Et==EH| 40,000
cEBRML EE =2 10,000, 000& 10,000
ocZFEI 2 20,000,000& 20,000
CTRMA LAY WA 242
10,000, 000& 10,000
o=l 2,000,000& 2,000
02 232gHl 5,000 5,000 0
023223 HAM 1,000, 000& 1,000
O Xt g & et 1,000, 000& 1,000
O3"/ ML AIE&EHIS Xl 3,000,000& 3,000
401 Al HIZ 201 I 80,000 30,000 50,000
01 A& HI 80,000 30,000 50,000
OAsMe2e S E3tAS 30,000, 000& 30,000
O07) SHESD W 28X HY
50,000,000& 50,000




S B
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Helr SRMA 2el

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
INES DA RS 22,000 5,000 17,000
201 £B-2d| 15,000 5,000 10,000
01 At 22l 15,000 5,000 10,000
O+YHS AN L2EESZ 7,000,000& 7,000
oiLssgz ¥ X 5,000,000& 5,000
OAXsAH BEHS & ZEZ 3,000,000& 3,000
301 LEAZ 7,000 0 7,000
12 JIEBHE4 3 7,000 0 7,000
OAFIHERDI] SAAte 3 7,000,000& 7,000
A2 3,577,800 3,129,800 448,000
EAMAES 22l 1,492,800 1,477,800 15,000
201 L2l 22,800 22,800 0
02 =224l 22,800 22,800 0
OFHAL ItSHAH(IBS) SXE+ 22,800,000 22,800
307 QI2+0l & 860,000 860,000 0
05 BIZHRIE 3 860,000 860,000 0
OFHAIZZ SA(23 235 ,82244)
860,000,000 860,000
401 AIEBIZ 201 8I 610,000 595,000 15,000
01 A& HI 610,000 595,000 15,000
OAEA HUX SSHEAL 110,000
oEHAMN FS HEAMH 50,000,000& 50,000
ocEM ARE SXUHEELI SA
60,000,000& 60,000
OAMEBA SLSHE NSHAH MEH WA
65,000,000& 65,000
O=LEHM4A X=HOEHDDC) A
45,000,000& 45,000
OFAMAIE R & B 90,000,000& 90,000
OAMEA 28 S 5= 300,000, 000& 300,000
EMNRXE S 1,815,000 1,572,000 243,000
201 L2l 1,675,000 1,445,000 230,000
01 At 2t 2l 106,000 92,000 14,000
O el 104,000
oHAL A3 FH 2 A2F P
16,000, 000& 16,000
o FHAY A 10,000, 000& 10,000
oHAL 283 HA 6,000,000& 6,000
oFHAMN AZAIE HLUHEEZ 15,000,000 15,000
oA SLIN(E/N)EIIZ A 2,000,000& 2,000
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I 3 & THar2e

ool HArzel (298 R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
oHAL EF MOUAMEE B &L MR &X
20,000,000& 20,000
oL A& =22 10,000, 000& 10,000
o XAINHEN (ME OlAIHIS 20,000,000& 20,000
ogt&A HIMI RA2AL =5
5,000,000 5,000
OZ2 &l 2,000,000& 2,000
02 =329l 1,569,000 1,353,000 216,000
0332=2 % HA 1,318,000
oXIYMEZEMIAB(EZE AEE FWE)
750,000,000& 750,000
oA ZERS(HIRB) 430,000,000& 430,000
oA 223 (&dt4E) 30,000,000& 30,000
oA ZERS(ZAINAZ) 90,000,000& 90,000
oEAMEESZ2(AMAES, X)) 4,000,000 4,000
o HAHEBAZ)ZZ222 5,000,000& 5,000
ocETHMEE F¢ 5,000,000& 5,000
oHJIZ ZOf F7¢ 2,000,000 2,000
cJlE 3323 2,000,000 2,000
OA&E&Hl | Xl 248,000
o &AL Xl 22| 100,000, 000& 100,000
ocZALAIEE | &22|H] 10,000,000& 10,000
oF AL 22 ZAF OiHl =& 6,000,000& 6,000
oMEANAE XNILHI F2 2,000,000 2,000
oM AL XIEXNI| B 5,000,000& 5,000
oEZYSNHA MAHEX 2 L Wi
20,000,000& 20,000
oHAL WEbBE 2E 25,000,000& 25,000
oFHAN AYUFHN HE B 20,000,000& 20,000
o ZOHQ HOAIME B4 (SHESELE)
20,000,000& 20,000
oZAIHEN E HI| L BEUHAIE =4
20,000,000& 20,000
oFAL WHE ZXMH A 20,000,000 20,000
(OPNE=FaR=1as] 3,000
ocR2M S 1,000,000& 1,000
oXt&EAH RAH A2S 2,000,000 2,000
206 T2 HI 80,000 77,000 3,000
01 X2 bl 80,000 77,000 3,000
OFA HtetE X2 26 uA
20,000,000& 20,000
O3S A-"E 2 5,000,000& 5,000
od2tg H2HM, 42H 2L 10,000,000& 10,000
OJIHZEH XHIHPL 10,000, 000& 10,000
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I 3 & THar2e
Selr FAr2el

- _ _ RE]
SA - EH B (FH) - NRAY - BAS gﬁ‘&i HR=2
OA=F 02 2 10,000,000& 10,000
O®II XM 7 10,000,000& 10,000
OAYTM 7 10,000, 000& 10,000
OFA HE=&H=S k 2] 5,000,000 5,000
405 XHA&HF S HI 60,000 50,000 10,000
01 XML 2 ZF S| 60,000 50,000 10,000
OZAH HIE2L & 2l 10,000,000 10,000
OXHIMEN OE |8 7
20,000,000 20,000
OAEA SHEA =5 Hl4G 2 10,000,000 10,000
OAEA AMRA & Il 2
10,000,000& 10,000
OFQXX AFRA AIRIIF? 2¢
10,000,000 10,000
S80S HAL2e 270,000 80,000 190,000
201 et 30,000 20,000 10,000
02 B232%H| 30,000 20,000 10,000
OSHSEA SA&2 20,000,000 20,000
OANMSESEHHER Al 10,000,000 10,000
401 AlEHIZL 2 0HY| 160,000 60,000 100,000
01 Al&EH| 160,000 60,000 100,000
OMNESdEHESFXAHH HUHEED WA
80,000,000 80,000
OLYSHESNNME HE BLBA
20,000,000 20,000
ORYHHIH = M P g M
10,000,000 10,000
OMEHHEHFF X A =2 A 50,000,000 50,000
405 XH&HF S HI 80,000 0 80,000
01 AL 2 FF S| 80,000 0 80,000
OFdsHHEF =X A =0 g =228 7Y
80,000,000 80,000
SHEM A AH (3 H ) 90,480 87,120 3,360
Jl2&Hl 90,480 87,120 3,360
Jl2 &4l 90,480 87,120 3,360
201 LBt | 9,000 9,000 0
01 AP 22| d| 9,000 9,000 0
O Ybt4=24| 5,000,000& 5,000
O3&Hl 4,000,000& 4,000
202 o4 | 77,280 73,920 3,360
01 2L I 77,280 73,920 3,360




S 3D
M AHSAAH (3 D)
Se: I =l

= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e
OZUH=Z 0t 280,000 128 x23H 77,280
203 YR =2l 4,200 4,200
04 FN2IELSFZ=AH 4,200 4,200
ORN2EYF=AHI 350,000& 122 4,200




